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Marks:80 Subject — Hindi Time: 03 Hours
Class |specification very small |small Long Total
answer answer answer
[knowledge/ comprehension/ | [valuebase/
Understanding] | Understanding] | knowledge
11 no of 50 5 4 59
guestion

no of mark 1x 50 = 50 2x 5=10 |5x4 =20 80

Vv no of 50 5 4 59
guestion

no of mark 1x 50 = 50 2x 5=10 |5x4 =20 80

V no of 50 5 4 59
guestion

no of mark 1x 50 =50 2x5=10 |5x4 =20 80
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TIHTI] FHoTT Uo7 HeT

STUTIRARTE, H{ars 400094
Terfera TheTeit F o wra i searfea T RaET [2017-18]

FeT — e F forg fAuw - B& qurfeh -80 qay -3 "

fader: & wuTE FAT g ureaw § feafua @t ars enfae fRw S|

G- YT AT FHSATS &L FHTIHTL G

A = 40% #rea =50 ST =10%
T- BT A RO S AT = /Y@t 2 i Qe g A |
H- AT TAATA | T T I AT |

F-T1 o I < T U5 HHT FH BT ------
[i] aeqi=es T & 3T [VSAJ-1 & [T 9Te3 AT U aTF7]
[i] @ vt #3597 [ SA]- 2 & [10 ersat # 3TX]
[iii] &er I T [LA]-5 &= [30 9r=aT # 3]
1. IS IT=ITer 9 AT 10 To7 6 I 1x10 = 10 &=
2. qT&T T=ATLT 9T SATeTa 10 FoAT % 372 1x10 = 10 3%
3. UTST STl I¥ AT 5 aeqas T 1x5 =05 %
4, TTST STAHRAATATL AT 5 AT 2x5 =10 3®
5. qTSI e | ATH I TeTRa 15 T27 1x15 = 15 &=
6. TTSTTEq S HHA T FHedaT/ A=A AreTd 1 T 5x1=53®
7. Ruan o F AR A UF a=e 5x1 =5 3%
8. faw v fowy & A # UF AR 5x1 =5 3%
9. 95T [F F | 1X2 = 2 3%
10. =t &t girat T FT | 1x4 = 4 3%
11. FT%T 5 F 1X2 = 2 3%
12. Ts&T T AT § TINT F:20] 1x2 = 2 3®

13. UF A==e § qgod for| 5x1 =5 &



TIHTI] FHoTT Uo7 HeT
STUTIRARTE, H{ars 400094
TR TUETSN & (T e it yeqrad €9=@r [2017-18]

e — =T % forg fw - i qurfe -80 qHy -3 "

fder & TU S9Td THT ey § Steatad @yt ars anfier o s
G- AT FT HiSATe TqT AT G
T = 40% d|T =50% FeT =10%
T- Zrat & fou s arer B/ warEe w1y s aedw g =9 |
- AT TEATA & T T T S0 |
F- TAT F IAL & T o757 HAT A gl -
[i] a=qes I & 3a% [VSA]-1 &= [T 916 AT U AT
[i] @ FAt F3AT [SA]- 2 & F [10 eTsat § 3Y]

[iii] e 34T T [LAJ-5 3= [40 ereaT § 3Y]

1. TfSd T=Iier 97 srgried 10 Tt F I 1x10 = 10 3%
2. ST T=ATLr O Ar&TAL0 AT I 1x10 = 10 3%
3. 9731 #fiT Fwfaarat 9% g1 5 aeq=sg T 1x5 =05 3%
4, TTST ST FAAT AL LT SALTT 2x5 =10 3
5. qTSI e | ATH T &1 15 T27 1x15 = 15 &=
6. TTSTEdah A Terd FeadT/ ATATAATTIL ST 19T 5x1=53#%
7. QU an o F AR A UF a=e 5x1 =5 3%
8. UTSITEd e o Y 9% 30 M0 fAws & 9 § uF a=e 5x1 =5 3
9. 5T & F | 1x2 = 2 &=
10. GTEAT T 9T [ T (Here | 1x2 = 23(®
11. aqTFT 05 F| 1X2 = 2 3%
12. Ts&T T AT H TINT F:0) 1x2 = 2 3i®
14. FETAL T aTFT § TART F| 1X2 = 2 &%

13. UF == | qora foral| 5x1 =5 &®



TIHTI] FHoTT Uo7 HeT
STUTIRARTE, s 400094
TR TUETSN % (g e it Teqrad €9@r [2017-18]

TTSIqEd ; AT wmr- 5

FT— — qiet ¥ forg v - & qurfeR -80 qay -3 "
fAer & v g gw arewn # steatua asft are enfher fro s
G- TATA T HiSATS T2 HHATTHL g
T = 40% FTaT =50% FeT  =10%
T- Ul & o s arer B/ ware w1y s aeiw g =9k |
H- FIATHT TAATA F T T Lo S |
F- TAT F 3L & T oTe7 HAT A gl -
[i] a=qes I & 3a% [VSA]-1 &= [T 9Te7 3T U AT
[i] T FAt F3AT [SA]- 2 & F [10 eTsat ¥ 3Y]
[iii] & 34T T [LAJ-5 3= [50 ersaT # 3Y]
1. wfea Tarier 9 et 10 FeIT 6 I 1x10 = 10 3%
2. FAATET T=ITI T ATETRAL0 FoAT o IAL 1x10 = 10 3%
3. 9731 #fiT FHfaaret 9% g 5 aeq=g T 1x5 =05 3i#®
4, TTST ST FAAT AL AT SALTT 2x5 =10 3=
5. qTSI e | ATH T TeTRa 15 T27 1x15 = 15 3=
6. TTSIIEAT SEETHd FHeddT/ ATHAATIL LT 195 5x1 =5 ®
7. QU an o F AR A UF a=e 5x1 =5 3%
8. UTSITEd o Y 9% 30 M0 fAwT & 9 § uF a=e 5x1 =5 3®
9. 5T & F | 1X2 = 2 3%
10. GTEAT T 9T [ T (Hers | 1x2 = 23(F
11. aqTFT 05 F| 1x2 = 2 &%
12. Ts&T T AT H TINT F:0) 1x2 = 2 3®
14. FETAL T aATFT § TART F:20] 1x2 =2 3

13. U wg=E ¥ e for)

5x1 =5 3f®



